1 g\"; Q. P. Code : 759900
gn b
(3H — (Marks: 100) Q
_ e
N.B..” 1. Smcﬂyavmdresornngtoanymthirmeans during the examination & abide by bf:‘
) all the rules and relating thereto. \{}'
' 2. I"igures in bracket to the right indicate full marks allotted to the ‘k;; .
question. : )
- 3. Worhng notes should form part of your answers. ' {%'
4. All six questions are compulsory, although, th intefnal options %
. case of Questions 2 to 6. ’"T"""'_" / ‘ é\“‘?""}
5. Use of simple calculator is allowed. >

== o
Q.1A Fill in the blanks with the appropriate given options aq;wnte com%te - (10)
A

¢ sentences. (Any10)

1. Accounting Standard 2 deals with

“ (Disclosure of Accounting Pcljcias/Revenue to alu{
= . The initial amount payable at the time of mgnﬁ;s ement W k\\
Cash e

i B transaction is .(Hire Purchase cefown Paymen
l

b

-

3.  The Manufacturing Account is prepared nd X AWAY
(Gross Profit/Cost of Production/Net Profit) %\ | ¥ U\
- 4.  In Departmental Accounts, Office Rent idviilocated on the basis
of each department. (Sales Tumover/Amg-bccuplettf?mhﬁesT”
5. In Method Stock Valuation, items received first are
Yssued first, so that the latest purc items are left in stock. (Weighted Average /

FIFO /Simple Average)

i) :
6.  Wages paid for installation ew machinery is a
(Capital Expenditure/ Ca% Receipt/ Revenue Expenditure)

7.  As per the rules, Siaockgs to be valued at Cost or Net Realizable Value whichever is
(High%ﬁ\:owerfAvaz lable)

8.  For a Book Maniifacturing Company, Book is a
(Raw Materi ork-in-Progress/Finished Goods)

9. The e@%n who sells goods on Hire Purchase Basis, is called a
p'\
. (Hire Purchaser/Hire Vendor/Consi gnor)

; if
10. __shows the financial position of the company at the end of the
%Ear (Trading Account/Profit & Loss Account/Balance Sheet)
‘KV
1\'\1\ In case of a manufacturer, Sale of Scrap appears on the credit side of
Account. (Trading /Profit & Loss / Manufacturing) .

S<” 12. Under Credit Purchase Method of Hire Purchase System, Depreciation on Asset
Q‘" *® purchased is charged for the first year on _ (Full Cash
- Price/Hire Purchase Price/Down Payment)

*‘5?7.}
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Q.1B  State whether the following statements are TRUE or FALSE after rewriting :-.
same. (Attempt any 10)

1.

W g D g

e s
o= O

Q.2  From the following Trial Balance of Mr. Aditya, prep@é Manufacturing Account, (15)
Trading Account, Profit and Loss Account for the Q\«@pr ended 31% March, 2016

. Amount paid as carriage inward is included in cost of invent,
. Under Hire Purchase System the seller is the owner of gae;ﬁs until the payment of

3 Q..o

Inventories which are held for sale in the ordinary course of business are current
assets.

AS-9 does not cover revenue arising from government grants and subs1d1es- P :,, {
1t 1s not necessary to disclose the change in accounting pelicy. ' AN
Revenue expenses are non-recurring expenses. AN

The Manufacturing Account always shows a debit balance. B

Departmental Accounts are necessary for evaluating departmental efﬁc:gﬁi:y
Disclosures under AS-1 need not form a part of final accounts. o
Income received in advance is shown on the asset side of the balancﬁ%eet, ™
Hire Purchase Price is the total of cash price and interest ¥

Full Cash Price Method is also known as Credit Purchase TM’Iet

last installment. ».«R‘\R

and Balance Sheet as on that date. a;‘,%
Trial Balance of Mr. Aditya as on 31st Mg!’"ch 2016 -
Particulars . Dr. (Rs.) | Cr.(Rs.)
Opening Stock—Raw Materials P 12,000
Opening stock - Work'ln Progress M f\\‘ 7.000 i
Opening Stock - Finished Goods oy D»p 20,000 -
Purchase of Raw Materials pg L 1,05,000
Carriage Inweard on Raw Materialg, ¥ o~ . 4,000
Direct Wages e 56,000
Factory Rent gat 8,000
Factory Power and Fuel .$3 11,000
Machinery P ' 80,000
Sales & 3,25,000
Officc Expenses i~ 50,000 |
"Cash at Bank . 11,000 : 3
Creditors 2" 21,000
Bad Debts "% & - - 1,000
Provisions for Bad Debis ' 2,000
Sundry Pebtors 53,000 |
Ca@gai 82,000
Diawings 12,000
B, - Total 4,30,000 | 4,30,000

BN
~

i

f:}’i" Following further information is provided to you :
\

.
v-,,._{ 17
L
A z’;:’
L

g
5
T,

Closing stock as on 31% March, 2016 is:
Raw Material Rs 15,000, Work-in-progress Rs 8,000, Finished gocds Rs 23,000.
[TURN OVER]




Q. P. Code : 755900

2. Depreciate Machinery @10% p.a-

3. During the year, finished goods worth Rs. 5,000 were distributed as free samples

~ but were not recorded. - oW i i \g
4. | Prov1de Reserve for Doubtful Debts @ 5% on debtors. : ,.;Lm
. OR R ;n"h*

From the following Trial Balance of Mr. Gangadhar,

Q.z &
Account, Trading Account, Profit and Loss Account for the year ended 31 _\;}Vlarch,

prepare Manufac“'linng as)

2016 and Balance Sheet as on that date :- \Q
Trial Balance of Mr. Gangadhar as on 31st March 20163~ _, ??.
A i Particulars r. (Rs) | Cr.(REY
= Capital Account 1,00.500
Opening Stock - Raw Materials 24,000 | 9~
; Opening stock ~ Work in Progress 4,000 |
£ Opening Stock - Finished Goods 31,000 |

3 Purchase of Raw Materials 2,50,860
Direct Wages 35,000
Factory Rent .3 8,000
Machinery - -1,00,000

Sales Y 4,35,000
- Cash at Bank & 6,000
5 Travelling & conveyance k! 20,000
= Salaries 5 24,000
Dis®ount Allowed O 7,000

Sundry Creditors Sy 90,000
Sundry Debtors o 40,000
Vehicles . 75,000

Total &5 6,25,000 | 6,25,000

=
&
_ Following further mfumaatmn is provided to you :

1. Closing Stgck as on 31% March, 2016:

" Raw M&ienal Rs.25,000, Work-in-Progress Rs.8,000, Finished Goods Rs.35,000.

2. Degz;gc1ate Machinery @10%p.a. and Vehicles @10% p.a.
3. Pfewde Reserve for Doubtful Debts @ 5% on Debtors.

é}g\i‘Dm’mg the year,

ik Y .
r\’\:‘a » not recorded in the books.

Raw Materials worth Rs. 5,000 purchased on credit basis were

[TURN OVER]




From the following information relating to M/s Akbarallys Departmental :
prepare Departmental Trading and Profit and Loss Account and General Profit :
and Loss Account, for the year ended 31* March, 2016 i

Particulars | Dept. X .| Dept. Y +| Dept. Z
R, Rs. Rs.
L Ppening Stock 34,000 45,000 63,000 | &

Purchases 4,75,000 | 2,95,000 | 2,75,000 %

Sales 7,50,000 | 5,70,000 | 5,25,0004

Salaries 75,800 87,900 65,300

Closing stock 40,500 31,500 50,400
Common Income & Expenses: >
Rent Rs. 15,000, Electricity Rs. 25,000, Printing and Stationery Rs 5}%0, Discount - %
Aliowed Rs.15,000, Discount Received Rs.18,000, General Expenses K5:10,000 %
Additional Information: s .

Area gocupied by the three departments are 900, 600 and 300 Sq. B Fespectively.
Allocate Electricity and Printing & Stationery in the Rah& Gross Sales of the
respective departments. :
Allocate the other expenses on appropriate basis, to the extg%z,g possible.
OR g®
Q.3 From the following information relating to M/s,> Apna Bazaar Departmental (15)
Stores, prepare Departmental Trading and Profit ¥nd Loss Account and General
Profit and Loss Account for the year ending Qlﬁﬁccember 2015

2 ol
Particulars \fn*;;'?f Dept. Dept ;
A A B 2
o, Rs. Rs. ;
Opening Stock = n ™ 12,000 15,000
Purchases T ¥ 1,05,000 1,20,000
Sales e “:-“"5 1,35,000 1,80,000
“Wages o) o 6,000 8, 850
Following are the other €gmmon Total
Expenses/Incomes: m\bw (Rs.)
“Af Salaries ¥ oo 18,300 |
Rent & Rates ¢ y iy 2,000 ™ .
-{ Carriage Inward -4 1 {7 2,250 -
-Carriage Outward §' ¢ 4200
Discount aliowed P& 2,100
DiscoungReceived PL/ - 1,500
AudisFees (a1 %00
Legal Expenses (53 506

\\:"x‘ Additional Information:
" =£) Salaries are to be allocated equally.

QQ%@ {2) The area occupied is in the ratio of 1:2 between the two departments respectively,

X e %ﬁome:n‘;::;l; Department A Rs. 30,000, Department B Rs. 37,500,
& L mmon expenses /income to b : .
‘ ;:g‘é;, "“the extent possible. © allocated on appropriate bass fo
f\’:,‘ 3
A [TURN OVER]




7 Q. P. Code : 759900

‘The following particulars have been extracted in respect of Raw materials of Ultra (15) -
Chemicals. Find the value of closing stock as on 30" June, 2016 on the basis of ¢ 3’*

(I) First In First Out Method and (II) Weighted Average Method. .1\,,}
Receipts:- - - - _ f‘i(;;\
01-1-2016  Opening Stock 100 units at Rs. 35 per unit ? AN
03-2-2016  Purchased 400 units at Rs. 40 per unit e
13-4-2016 Purchased 900 units at Rs. 45 per unit gﬁ‘wg"
23-6-2016 Purchased 600 units at Rs. 50 per unit {,f:?y
5 !SSHI‘:S Hel »‘??‘\
i 05-3-2016 Issued 400 units r;c
15-5-2016 Issued 600 units m\‘g}
~ 30-6-2016  Issued 600 units Y
. &
¢ o |

Q.4  Find out the value of Closing Stock of M/s Mayug@z.td using (A) FIFQO Method (15)
(B) Weighted Average Method from the follawilfg%etai!s of Material ‘X’ as on 31"

January, 2016. o b
5 f"“\)‘\
R v
s Date | Particulifrs Unit @ Rs.
-~ 4
2016 K
Jan.j 05 Opening Stegk 700 25
Jan., 06 Issues 57 400 -
) Jan., 09 Purcha; 900 35
Jan., 11 Issues ¢ 600 -
Jan., 16 Pufdhascs 200 40
Jan., 21 Putchases 900 45
Jan,, 31 Cfssues 500 -
,\\5‘ ;

¢ S

Q.5 Mr. Lal Prasad :Epurchased a Car on Hire-Purchase Basis from Maruti Ltd on (15)
1* January, Z«i}f’i’v He paid Rs. 1,50,000 on signing the contract and agreed to pay 3
mstallmen@bf Cash Price excluding interest as follows:-

%%1 12 2013 Rs. 1,50,000
N()n 31.12 2014 Rs. 1,65,000

Lo
\f‘ On 31.12 2015 Rs. 1,85,000

Q‘i‘he Cash Price of the car was Rs, 6§0_ 000. Interest is charged at 10% p.a. by Maruti

Q}f Ltd, on outstanding amount. Depreciation @ 20% p.a. on W.D.V.is charged on the Car.
»i;S» Prepare Car Account and Maruti Ltd. Account in the books of Mr. Lal Prasad for the
i years 2013, 2014 and 2015.
Cf:?}? ' OR
0 [TURN OVER]




6

Q.5  State whether the following €

reasons for your answers.

1. Purchaseda plot of land for Rs. 25,00,000 and paid

glstratlon and allotment.

2. Recewed Rs. 3,00,000 on Issue of 15% Debentures.
3. Interest of Rs. 8,000 paid on Bank Overdraft.
4. Paid Rs. 6,000 as Excise duty on goods manufactured.

5. A petrol engine of 2 passenger bus was replaced

6. PaidRs. 1,00,000 as fees for renewal of license

7. Received Rs. 2,000 as dividend on shares.

0

Q.6 Answer the following:

a) What are the provisions of Revenue Recogniti

i b) Explain the Provisions of Disclosure of Accomqﬁ'ag Policies as per AS-17

5

Q.6  Write short notes on Any Four of the fouq\, s

e A Manufacturing Account. N
g FIFO Method of Inventory Valgahon
\y. Main Features of AS-2. £

nﬁ‘\
4. Stock Reserve. ) %:;5 o

L 5, Fundamental Acconn’f&'g Assumptions.
Q“’ / Importance of Deg%itmantal Aucounts.

"u.}
i

bya

xpenditure oF receipts are capit

for factory.

%“Si

~

Q.P. Code t"? )

Rs. 1,00,000 fees for

diesel engmc g;%»

}

on as‘,{a@r AS-9?

"\u

3>
o
o,
i
e
Y

T
i
i
ihiw
L
o

o

al or revenue. Give'

{
;C:,
It
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(3Hours) . .. - [TotalMarks 100 B

o
"0

N.B.: (1) Al quesnons are compulsnrv siais B, viaed s #75 SUAEE )
(2) Flgures to the rlght mdicate full marks S %{L
v S ,\\
1 ) Fill in the blanks w;th the appropnate optton gwen in the bracket (Any ’l%ﬁ) 10
~ ’ 1 | concepg of "business is concerned with customer. satisf
(a) Modern (b) Traditional (c¥Product ¥
2. ¢ ~___ refers to reduction of Govemment confrol o&&“busmess

sector. s
- (a) Lfthe:r:ad1zalt1(mé (h) Envaﬁzatmn (c) (Egbahzahon ¥
T3, L the mosr nnpoﬂmt econqmic objeetﬂ.g of business unit.
(a) Service (b) Profit ... . (c) Chydiing the-right price
4. _ enylronmenrmcludes pohcms_ &fhe Government. . -
(a}—soclogranhm Cb) demugraphw ’)3' (c) economic.!s

LRSS T

y 5 fﬁqu@s?ml fa,ctors ar = -.=?“-“'*'4-.=__-_9f::;\‘<a f v
e " {a) stable : Mynaﬂuc (c) moiated
6. *Decision on location is an miimrl@%t eiemenraf g

(8) setting up a business unit - . .. (b) rnarket resgarch G

V(zj/ ma.nufactlmg Process .oy . ; - #8% °

7. Analysis of competitor ?rategws is an elemeu’c of

ermronment analysis,_

~actas azz@erence gmde dunng the.exeéutmn of the pro_ject
:(a) feasibility Tegalreport . . . .(c). project report:
9. imple ents the plans and 1deas of an entrepreneur. .

\ Q manag@g‘ ('b) mternal entrepreneur (c) promoter
S‘hgream;nt is concemed vmh liberalisation of Intematmnai o
. Invests :

g
L, a.., L

(a) GRIMs . (b) ’I‘RIPs (c} Ag::eement ongnculmre
& ; 11. o is an entrepreneur within an existing organisation. .
3{’&) intrapreneur (’b) manager . ,. (c) leader ... -

scheme is specially meant for women entrepreneurs.

¥ {a) DBK (b) MDA (c) TREAD




Q.P. Code : 760001

(b) Stqte whether the following statemen’ts are True or False (Any Ten)
1. Business broadly involves mdustry and commerce ’

¢ 5 Business is a social activity. ”

3. Creating wealth is an seGhomic objective ‘ofbusiness. AR

4. Turnaround Strategy is applied to loss making unit. - fﬁ‘-’f

¥ 5 Environmental factars 4o not’affectb méss actw:ities. ’ ?:’ S

¢ 6 Cultural =env1ron1:rient does’ not m‘f‘luence dcmang -t;o‘:g @?ods’ and
i &

:r’* " ST

servmes‘ S Lok _ ) A

¢ 7. Indza isa me‘mbéi"‘éf ASE AN‘ sty BUERN § ":“ -
8. Project report is a base for feas1b111ty study. AR
-Q 9 TAN 187 manda‘tdry for Openmg  Bank accou.nt Ellmg of o ‘cdme tax

2 Ppe Y

- sretuiras dnd” \?ancus " Gther ﬁﬁa’”nbial tansacti%ﬁ

-Q 10 Entreprem@mp i84d Sakcial acnvxty 5 _
11, Mahild Vikas S Nidh pmvifies Forhen with development -------- -
12. National Small Industries” Cerperangif‘?NSIC) hg.s be§5 _?Korkmg to

promote the growth of small scale- J.'E}E!\ ics and mdﬁsitffy (;':d small
scale ~serv1ces u:fthe coun’zr)";’ "';.\\ - L o

i ;ﬁ} i

qﬂk f..\ L
2.\{(&1‘)”" at dc you me’"’n by busmesc%:%}iplmn it 1 1 :
Expiam bneﬂy economlc obj&%@tlves of busmess S e o

i oy RS ({f? OR et AT : ”s N S ol

2 @) D1scuss the 1mpact 0 0% "%ahzatmn on busmess and t
(b) ‘What 1SETumar0und’? >f

.-.‘:"’ HFH 3 ." c 5

3 (d)'f Explam the com nents of external ’enmonrhent P o Ton
)/State the: 1mp%wance of" analyzmghusmess énw:anment 7 T '

. - J( 11 < ot 8".-&‘? OR A R 1 s 22
3. (a) Whatds W-TO‘? Ex;ﬂam its unphéattons oh'developing nations.” S

:@’Deqc h@ e relanonshlp between busmess and var xous types of env:mninent

;’1& Eggiam the steps mvolved i busmess plaMng prooess Y - 8

£ at 18 pro;ect report‘? Explam 1ts 1mportance ‘
: N A e R e —

b T

e
1+
CAD

‘eﬁ'




Q.P. Code : 760001

U5
o
3 -
e _ OR Z
- 4, ,@/Discuss the concept and importance of project planning.
(b) What are the factors influencing location of business unit? {'«%‘7
i _ | >~ T
- , 5,
5 (8 Discuss the importance of entrepreneurship in economic and ‘gég‘fa} 8
;“' development,

™oL

o
Discuss the competencies or qualities of an effective entreprep@xi. 7
OR ﬁ_\}\?’ b
5. (a) Distinguish between manager and entrepreneur, J

G 5
v (by"What are the problems faced by women entrepreneur igﬁhdia‘? 7

_ & N
6;\Ja§"’Exp]ai11 the importance of business, 10 gy

4 g
(b) Explain entrepreneurship training and developm;&% centers in India. | ¢ : .%
OR AS‘"'J ‘ "'
Write short notes on (Any Four) : a0 20
{8y "Modern concept of business «%;*f%)
e \{by> Feasibility report {“:
~4C) Educational environment ﬁ‘c;
(d) NAFTA i
& Social objectives of bus%zj?ﬁ%s
(B} Restructuring strategi:%%;?

6.

- X ‘{}

LET - ;(m} -
g K

M- e

y

if

| TURN OVER




Qpr Code :760101

t..._\‘ .

[ Totaj Marks . 100 . B

Cow

1. (A) Define the followjng Conicepts, Any Ten - * 10
(i) Equation

. {ii) Average revenue
i (iii) Equilibriyg, Price
 (@iv) Cross elasticity of demang
) Income elasticity of demang

(vi) Demang f‘omcasting
(vii) Lsoquant

(viii) Constan returns to Scale
(ix) Disecon.omies of scale

] (x) Total cost
i () Implicit cost
xii) Break-even Ppoint 5
(B) Select the best answer from the given optiong and rewrite the

Price of 800d sind the amount of the good that Consumerg
Want at that prices '

(@) Supply Strve
®) Demang curve

P _ (c) Supply schedule
) Production DOssibilitieg frontier

(ii) _Tff;_é market clearing Price is alsp called the
) CUrrent price
o (B) Prevailing price
. () equilibriym brice
(D) none of the above

[ TURN ovgg
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(iii)

@)

™

(vii)

(i)
T
A
ey \:' ¥

AR
T

2 QP Code + 760101

What is the cause of the rightward shift of the demand curve \
for cars? ,,‘21
(a) An increase in income o
(b) An increase in population size A
(cy Lower prices of petrol _,{}f.“}-
(d) All of the above o

w2

rﬁ‘u“by a

A percentage change in quantity demanded divid
percentage change in price is called s
(a) income clasticity of demand <
(b) price elasticity of demand

(c) price elasticity of supply
(d) elasticity of substitution Py
On the lower segment of a dmwaﬁéjéloping straight line
demand carve price elasticity of demsnd is

(a) -1 T

® <1
() =

(d) none of the above . "'-";}"'

LN

Expert opinion is & .

(a) swrvey method <"

) statistical meﬁf‘iﬁ'd

(¢) botha and b

(@) none of t@ ‘above
.

. ¥ ias

If there isizero substitatability between capital and labour the
isoquantiis

(a) 2 straight line

(L)L shaped

(¢ concave to the origin

{d) none of the above

£
ey
i

The total amount of output produced is called

(a) total supply

{b) total product

(¢) botha and b

(d) none of the above [ TURN OVER
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3 QP Code : 760101

units of the good. The marginal product of the sixth unit of . M

labour is piﬂ;ﬁ"?
(&) 100 units A
(&) 1500 units s

(c) 2000 units
(d} 500 units

The rent of g factory is an example of
(8) wvariable cost
®) fixed cost

(¢) bothaandb
(d) neither a nor b

(xi) Which of the following curves js us\éﬁ"}'or planning
{(a) SAC

®) SMC
{c) LAC
(d) LMC

(xii) The break-even point _isﬁi]ﬂuenced by
(@ price e
(b) average variable cost
(¢} fixed cost
(d) all of the,above

2. Attempt A and B OR Cud D

(A) What is business;ééonomics? Discuss its scope, 8
(B) Given the foligwing data 7

a 2 13 a5
O _fito ] o 8 7 | 6

o

(i)' ¥ Caloulate TR, AR and MHR.
Gi) Explain the telationship between TR and MR, MR and AR.

AF

OR

[ TURN OVER




QP Code :760101 "
Attempt A and B OR C and p : . N
A) (D Distinguish between fixed proportions and variable Proportions S: 2
production functions, y s
(i) Explain why :

4,

(@) isoquants are convex to the
¥ (b) isoquants cannot interest,
¢ (B) Using isoquants ang the expansion path explain the law of rolums

to scale. 836

origin

OR ) 'M"»:\-: -
Discuss externa) economies and diseconomies of scale.
Using a diagram €xplain the law of variable proportisns.

©
)

5. Attempt A and B OR C and D
(A) Draw diagrams to llustrate :
() TFC, TVC and TC _J
(i) AFC

(ii) AVC, AC, MC R
(iv) The relationship between AC agaﬁ\étc.
- (B) Given the following data : 5

By

Ay ?
Q@ To 1 |2 [ 3.4 15 Te [+ f
l7c [40 | 52 | =5 | & [ 70 ] 78 | 39

103
Calewlate TFC, TVC, Mc;

|

AFC, AVC and AC,

L' OR
£&) Construct the LAC ¢rirve using SAC curves.

8
(D) If price = = 7, AVC = ¥ 5 and TFC = = 40,000 -
(1)  What is the break-even quantity?
(1)  What happens to the break-even quantity when price increases
to ¥ 9, AVC and TFC remaining the same?
(iii) Whg;* happens to the break-even Quantity when AV increases
]:c;ﬁ‘ 6, price and TFC remaining the same?

6.  Attempt A ar;d B OR Write short notes on any four

(A) ;I_;}i‘scuss internal eco

nomies and diseconomies of scale,
(B} Explain break-

3 10
even analysis with the help of diagrams, 10

OR

[ TURN OVER



6 , QP Code :760101

Write short notes on any four of the following :
(i) Functions and variables
(i) Relatxonshlp between price elasticity and total revenue
(iii) Consuiner survey method of demand forecasting
(iv) Economies of scope
(v) Learning cwrve
(vi) Limitations of break-even analysis

i g

A

[ TURN OVER




Q.P. Code : 760200

(3 Hours) [ Total Marks :100-;
N.B.: (1) All questions are compulsory

. 1. (@) E{{plain the following terms in 2-3 sentences (any five) A{_‘__:"-"i;i-“' 10
i WA U4 Body language &
(2) Grapevine A

(3) Marginal listening b

- (4) E-mail Etiquette =

(5) Silence as a means of communication

(6) Dress and grooming
(7) Whats App

(8) Encoding

Shi

_ (b) Match the following ; 5
- ( Ij E-Commerce (a){;:@ommunication tool
(2) Social Media (b) Immediate feedback
(3) Physical barriers 7°(e) Technical language
(4) Oral communication ) (d) Trading
(5) Jargon " (e). Time and distance
(c) Fill in the blanks choosing the best alternative from the ones given below: 5
T L _i_-:;{ffxe response given by the receiver to the sender's
- message. .7
(a) Encoding (b) Decoding
(g_:__;}f."fl"‘eedback (d) Medium
(2) s~ gives legal validity to a letter.
" (a) Subject line (b) Signature
(c) Confidential notation (d) Enclosure block
(3) -----~r--mev- is a form of non-verbal communication.
3 " (a) Letter (b) Circular
i (¢) Report (d) Facial expressions
TURN OVER
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Q.P. Code : 760200

2
(4) Notices and circulars are examples of —----==-===""" communication. -
(a) Upward (b) Downward o
(c¢) Grapevine (d) Horizontal 4
(5) Moodle is a tool for —=-mmm=-m===
(2) Twitter (b) E-learning
(¢) Whats App (d) Facebook

s

Write short notes on (any four)
: e - . st g 5
R L% ? (a) Advantages and disadvantages of written comgﬁumcatmn.

(b) Need and importance of Business communication.
(c) Diagonal communicationt i
w{gj B £ icati |
ogs as a means 0 communication. ..

(e) Relevance of feedback in communication process
(f) Role of Internet in business coml}’;imication.

Py

Answer the following : (any two)
(2) Differentiate between heating and listening. How does one
cultivate effective 1isten__f1_ﬁ§ skills?
(b) Whatis corporate sogial responsibility? How is it relevant in
, | the business world today?
=] \93’)’ Explain in dqt}iil any five psychological parriers to
communication Whatare the various means to OVercome them.
Draft an application {otter in response to the following advertisement:-
"Wanteggféxperienced computer programmers for a company
based in Mumbai. The applicant should be a graduate with adequate
knowledggf;ﬁi computesr programming. Apply, with Bio-Data, to Box

No. 56, The Times of India, Wumbai-400001".

D:e_&'_f_‘??{he following letters : (any four)
' (a) You are applying for the Master's programme in business

management at National University of Singapore. Draft the
statement of purpose.
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3
(b) Drafta fecommendation letter for yourmarketing assistant who

has given your name as referee in his application for the post
of marketing manager in another company. 7
(¢) Rakesh Verma has been offered the post of Accounts manager
in Westetn India Electronics Ltd. Draft a letter of acceptancs
on his behalf. -
F - (d)" Rahul. P has changed his residence from Mumbaj to lee He

A

n

6. (a) Writea paragraph in about 159 wordgi- (any one)
= (1) Say no to plastic

(i) College life

(b) Readthe following situation cargﬁftlly and answer the questions given below:

his instructions were nop;___ig‘:k'r'ried out properly by the employees. He
thqught that the emplgyéés were not Qualified enough to follow his
. instructions. So, he Iried hiring highly Qualified employees. But,
- the ‘problems qqéﬁrred again. Soon, Vikas realized that the
employess We.r_?g'ﬁnable to understand his distinctly Americag accent.
Vikas, took _@aife to speak slowly using short sentences and simple
language, besides repeating a couple of times,
(1) Tdentify the barrier. What were the problems faced by the 3
i.?reneral manager due to the barrier? .
{2) What are the steps taken by Vikas to overcome the barrier? 2

&
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(3 Hours) [ Total Marks : 100

e
e

N.B.: (1) Al the questions are compulsory and carry equal marks,

(2) Draw sketches and diagrams wherever necessary.
- : (3) Use of map stencil js permitted. : A
g (4) World map (appendix -2) should be tied along with your ansvs{?si?paper.

1. (A) St?}dy the thematic map supplied to you (appendix 1) and answer. the
following questions.

= () What is theme and cartographic technique of the niap. 2
(i) State the female life expectancy in India and Chiaa, 2
(i) Name any three countries having female life expectancy of more 3
than 80 years. N
(iv)  Which region has less than 65 years female life €xXpectancy? State 3
the reasons.
= 1. (B) Mark and name the following features at the most appropriate location in
th& outline map of the world supplied to you (appendix 2)
() Largest desert in the world and Major mountain range in Asia. 2
(if) A densely populated regiorzand a sparsely populated region. 2
(i) A country having coastallocation and a country having continental 2
location.
(iv) Any two largest Wi@ﬁ energy producing countries in the world, 2
(v) Anytwo metropolition cities in northern hemisphere, 2

2. (a) Whatis Ecosystem? Wi;at are the functions of ecosystem?
k_,f‘E.-\’(,l;;) Give the definition sind scope of environment.
. A OR
State the importince of environmental studies in detail?
(d) Write notes ¢ ;
(1) Fvod chain
(i) .» Ecological pyramids

m‘m
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(c)
@

(b)

(c)
(d)

(b)
(c)

(d)

2

Define conservation and state the methods of conservation. :
Explain the problems associated with management of forest resource. ' K

OR .- ¥
Describe the types of resources with the help of suitable examples. &
Give an account on resource utilization and sustainable development. ;‘

S

Explain in detail pattern of population growth and associated probleg,?g;in
the World. -
Describe the measures taken to control population growth in India,

OR e

ol
i

Discuss on Human Development Index.
Give in detail population explosion in India.

v
$%.
5

Write in detail degradation of water resources in urbhn areas.
State the problems arising due to migration in mk@ﬁ areas.

' OR &
Write notes on : o
(i) Urbanisation 3

(i) Urban Heat islands
Give an account on ' Smart Cities'

i
P

4% %
At

il
e e o i

G
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(2% Fours) [ Total Marks 175
NB.:(1) An questions are compulsory
) (2) Figures to the right indicates fiyj] marks,

(D Shwetambar and are the two sects of Jainism
(Digambar, Pitambar, Mahayana)
(2} ' InIndia the state of has the lowest gender ratio.
‘ir (Rajasthan, Haryana, Punjab)
()  The major cause of declining sex ratio ig .
" (Poverty, Pollution, Smoking)

- @ there is farsightednegs but not short~g§gﬁfedness.
| (H}permetmpia, Myopia, Onomatopeeia)
/ (5)  Anti-Hind; agitations took place in In__g:_'ri'éi:'
(Northern, Southern, Western)
(6) The border dispute js 5 dispute involving the Indian states of
karnataka and Maharashtra,
w0 (Belgaum, Sanglj, Pune) E
(7~ Prime Minister js the head in India,
‘ (Executive, Judicial, Legislat@géﬁ'
) | is the Commandgr-in-chief of a] forces in India.

(B) State whethegé_z‘rié foIIowing Statements are Tyye or False:(any seven):-

1) Urb&::i"*gociety is heterogeneoys in nature,

2 India has no official religiop,

3 ,___;'S\‘;)Iit Personality is g type of psychosis mental disorder,
(4)> “ Polio is caused by a virus cajled poliovirus,

£5) Caste system Promotes socig] progress and modernization,

'::_”5“'(6) Regionalism Can cause inter-state tension and Confrontation.

(7)  Economic Justice stands for femoval of poverty,

@) The Constitution of India is rigid

9 Municipal council is also known as Nagar Parishad,
(10} The Mayor is elected for a term of five years,

[ TURN OVER
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2 What steps should be taken to prevent violence against women in India.
OR '
2. Explain the services available to handicap persons in India.
3. What are the measures to resolve lingustic conflicts in India. 2
OR
3. Explain the economic ineqalities generated due to caste system in India. 15
4. Describe the nature of Indian State as "Sovereign”, " Secular” and ‘f‘-gSncialist“. 15
OR .
4, Explain the concept of fundamental duties and their class1ﬁcatlons 15
5. Explain the concept of Panchayati Raj in India. 3. 15
| OR | |
5 Write short notes on(any three):- ' ' 15

(@) Multi-cultural society
(b) Cercbral Palsy
(¢) Regional and Communal Parties. -

(d) Parliamentary System
(¢  Corruption in Politics. ' .

~ (st BUiER)
. (v T ) (TeEmi ToT:0%)
o () W T st .
) mﬁ%ﬁﬁwwmaﬁﬁﬁﬁ
(3) ETTE aﬂ”"mgﬁﬁwﬁw PR

. (=) zﬁmwﬁﬁa‘sﬂ(ﬁmﬁﬁ : o . e

(’%}Qaéﬂﬁ'{aﬂﬁ % F7 yuig o 9y AR,

o (fare, e, TEET)

(R) WA mmﬁnmmmmm.
(Trored, g, )

(2) et Tomm U= 3 W RO AR
(ZrligE, WguT, gRIH) .

(¥) nﬁwﬁm@ﬁﬁaﬁq{@mﬁgﬁq@,

(gﬁq@?ﬁﬁm, TR, SAAEEIAIEAT)

[ TURN OVER




- All questions are compulsory P s eda 5
2. Figares to the right indicate marks allotted /. =~ - - = &
3. Graph paperg will be provided on request

4. Use of simple non-programmable calculator is allowed

SECTION-I

Q.1 Attempt any 4 from the following:

a)¥ Find the face vahie of a share if an mvestment of Rs. 9,00,000 put in to purchase __
$ 8% shares quoted at Rs. 15 each, earned a total dividend of Rs. 9600. 0%

Vg
b)  Mr. Chopra bought 400 shares of par value Rs. 10 each at the market price ofRs. 24
each. If the annual dividend distributed was at the rate of 12%, find Mr. Cligpra’s

total dividend and rate of return on investment.

fé) Ram invested Rs 18,000 in a mutual fund scheme with entry load qfsﬁ.‘ZS% at
NAV Rs 110. How many units did he purchase? The current NAV. 1§ Rs 130.
Find the current value of his investment, A

d)  Katrina invested Rs. 15,000 on 5th of every month for 5 m;ﬁhs ina SIP ofa
« mutual fund. The N.A.V.s on these dates were Rs. 42.26; Ks. 40.25, Rs. 49,57,
‘2s. 51.45 and Rs, 39.32 respectively. There was same £ntry load of 2.3% for all these
months. Find the.average acquisition cost per unit, * ¥
€)  Mr. Bhavesh invested Rs. 50000/~ in the pmqgfa;ge of Mutual fund units at NAV
Rs. 16.50/-. Calculate the number of units putchased when the entry load of 1.2% was
applied. How many more units he could have purchased if the scheme was load free?

o B8
S

Q.2 Attempt any 4 from the following: ;

.2 Inhow many different ways can.gﬁ"e:letters of the word LEADING' be arranged such

that the vowels should always ctﬁme together?

b) A committee of 5 ﬁersons_\j},g___ to be formed from 6 doctors and 5 nurses .Find the total
mumber of ways if com@‘ét&e consist of i) All doctors. ii) 3 dogtors and 2 nurses,

¢)  Solve the following L:P.P. by graphical method.
Maximize Z = 4x+ 5y
Subject to, 2x &8y <12;— .
X+E¥<5x20y20

&

d)e.~ Solve the following L.P.P. Graphically:
Miniziize Z = 9x + 10y,
suﬁj:éf to, x + 2y > 30,
5 3x+y230,x20, y20

o &

QP CODE : 760801
Time: 3 Hrs.
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A printing company P types of magazines A and B. The company earns

Rs. 25 and Rs. 25 on each cOPY of magazines Aand B raspect'wely. The magazines are
processed on three machines. M i ing
on machine 11 and 2 hours 09 machine I
5 hours 00 machine I} and 3 bours of machine L. Machines L 11, and il ar® available

for 35, 30, and 70 bours per week respectivety. Formulate the L.P.P.soas to maximize
the total proftt of the company:

SECTION-IT
Attempt any 4 from the following:

Explain the measure of central tendency- State the requisites of good average.

Draw a less than curmulative frequency curve for the following data and jocate “
median and tWO quartiles graphically. JE

Age n years
No. of mobile users

The following Jata gives the distribution of \‘r:i:‘eights of boys and girls the class.
Find, combine arithmetic meatt and deoidc:.i:i%fhich group 18 mote consistent.

(i) Sample space’ (it} Mutually exclusive events.

Given P(Aﬁ;gi.s, pB) = 0.4 & P(A/B) = 0.25
Find, (& PU2) Gi) P(ANB) (D P(AUB)

gho?c;_qon_tains 4 bh-;e ,3redand 2 black balls. If two palls are selected at random
gm the box, what is the probability that one {s blue and one 1 red ball?

[
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A
em on Mathematics is given to 2 students A and B who attempt it independently.
chances of solving the problem are 1/3 and 3/4 respectively. What is the probability that,
the Pmblem is solved? (ii) it is solved by only one? )
Following is the probability distribution of number of smart phones sold in a N
shop per day.

Number 0 1 2 3 4 5 [
Probability K 0.3 0.15 0.15 0.1 2k oY

Find the value ofk and E(X).

@5 Attempt any 4 from the following: i
A 5,

4}  Write a note on Decision Tree. .-.‘T:%}} _ ®)

b)  Given the following pay off table, find optimal decision using ‘”f'
(i) Laplace criterion (i) Maximax criterion (iii) Maximin eriterion 8 Q)

Course of Action States of Nature
_. S1 S2 S3 Py
Al 65 45 30 S
A2 75 25 105 o

A3 50 70 75 R

¢) A physician purchases a particular vaccine on Monday of &xch week. The vaccine
must be used within the week following, otherwise ttbimémes worthless.

The vaccine cost Rs. 20 per dose and the physician ghafgcs Rs. 50 per dose. In the past
50 weeks, the physician has administered the vaceine in the following quantities.
Doses per week | 20 30 4&‘
No. of weeks 5 25 30

(i) Construct pay-off table (i) Deterrrg;‘fgé\the optimum number of doses
the physician should buy using EM}{\'&%&‘itarion. 5)

d)  For the following pay-off table, séléct best decision using EOL eriterion. 3)

State of nature W ACtS Probability
At A, Az
Sy 86 140 100 | 0.3
Sz .60 |0 20 |02
Ss 1110 |50 70 105

¢) Drawa decis_igﬁ‘ti:ee for the decision problem below and suggest the optimal choice.
(Use EMV oriteria) &)

Product option Market demand
e Poor | Average | Good
o i P 100 350 100
o Q 150 250 150

Probability 0.3 0.55 0.15

e



